
Study or Subgroup

1.4.1 Clin+quinine vs Quinine: Adequate allocation concealment

Parola 2001
Subtotal (95% CI)

Total events

Heterogeneity: Not applicable

Test for overall effect: Z = 1.04 (P = 0.30)

1.4.2 Clin+quinine vs Quinine: Unclear Allocation concealment

Kremsner 1994

Metzger 1995

Pukrittayakamee 2000
Subtotal (95% CI)

Total events

Heterogeneity: Chi² = 0.49, df = 2 (P = 0.78); I² = 0%

Test for overall effect: Z = 5.40 (P < 0.00001)
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Total

57
57

39

40
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147

Events

2

2
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7

51

Total

58
58

36

40

68
144

Weight

100.0%
100.0%

41.7%

43.9%

14.3%
100.0%

M-H, Fixed, 95% CI

0.20 [0.01, 4.15]
0.20 [0.01, 4.15]

0.18 [0.07, 0.46]

0.13 [0.04, 0.40]

0.07 [0.00, 1.14]
0.14 [0.07, 0.29]
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